VYMHOXBTE JCCATHUYHBIC I[pO6I/I Ha OTpULATCIIbHBIC
CTCIICHH JCCATH.

1891, 6 x 0.0001 =

6460,2 x 0.01 =

Jara: Orenka:

4962,7 x 0.1 =

5505,3x0.1 =

8479,8 x 0.01 =

1891,4 x 0.1 =

5638, 3 x 0.001 =

7188,9 x 0.1 =

2393 x 0.0001 =

7123,4 x 0.001 =

6333,1 x 0.0001 =

4674, 2 x 0.0001 =

3262,5x0.1 =

1791, 6 x 0.001 =

4474, 2 x 0.001 =

5783,4 % 0.0001 =

4644, 8 x 0.001 =

3379 x0.01 =

1845, 1 x 0.01 =

6993, 8 x 0.001 =
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YMHOXKBTE IECITUYHbIE APOOH HA OTPUIATEIbHBIC
CTETIeHU JECSTH.

1891, 6 x 0.0001 = 0.18916

6460,2 x 0.01 = 64.602

5505, 3 x 0.1 = 550.53

8479,8 x 0.01 = 84.798

1891,4 % 0.1 = 189.14

5638, 3 x 0.001 = 5.6383

7188,9 x 0.1 =718.89

2393 x 0.0001 = 0.2393

7123,4 x0.001 = 7.1234

6333,1 x0.0001 = 0.63331

Jlara: Orenka:

4962,7 x 0.1 = 496.27

4674, 2 x 0.0001 = 0.46742

3262,5 x 0.1 =326.25

1791,6 x 0.001 = 1.7916

4474,2 x 0.001 = 4.4742

5783,4 % 0.0001 = 0.57834

4644, 8 x 0.001 = 4.6448

3379 x0.01 = 33.79

1845,1 x 0.01 = 18.451

6993, 8 x 0.001 = 6.9938
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